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vtgtert fe HEqut ya/ Important Instructions for the Candidates 

Each question carries equal marks. 

There is no negative marking. 

This Question Booklet consists of objective type of 25 questions. 
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quis: 100 
Full Marks : 100 

Rough work must be done in the space provided at the end of the Question 

Booklet only. 

Read the instructions given on the OMR Answer Sheet very carefully and fill 

your particulars in the specified space on the OMR Answer Sheet. 

Do not put any stray mark anywhere on the OMR Answer Sheet. Do not fold 

or mutilate your OMR Answer Sheet. 
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Before leaving the examination hall submit your OMR Answer Sheet to the 

Invigilator compulsorily and you are allowed to take away your Question 

Booklet. 
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1. 

2. 

(A) 

(C) 

(A) 

In a 2005-digit number all its digits are same. If this number is 

divided by 11, the remainder is 

(C) 

2018 ( a+ b) h HH aT 

(A) 

(C) 

either 0 or 10 

(A) 

a 3it b SIpfs HI a 9a =12a + 96 aT b = 2b +3 a, 74 

(C) 

14226 

then value of 2018 ( a+ b) is 

[93524 ] 

14126 

(B) 10 

(D) 

14226 

14126 

(B) 

(D) neither 0 nor 10 

10 

(B) 

a and b are natural numbers. If 9a =12a + 96 and b =2b+3. 

(D) 

14128 

14246 

|A 

(B) 14128 

(D) 14246 
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A 

3. 

4. 

(A) 

(C) 

questions did he leave out ? 

(C) 

h quiz has 20 questions with seven marks awarded for each correct 

(A) 2 

(A) 

(C) 

answer, two marks deducted for each wrong answer and zero mark 

given for each question left out. Ram scored 87 marks. How many 

11 is 

2 

7 

(A) 

(C) 

[93524 1 

7 

2 

6 

(B) 

2 

6 

(D) 

(B) 

(D) 

(B) 

(D) 

The number of 3-digit numbers which end in 7 and are divisible by 

5 

9 

4 

(D) 

8 

(B) 4 

5 
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5. 

6. 

(A) 

(C) 25 

(A) 

16 

The product of two integers is 2.35.7 Then the sum of the 

two numbers may be divisible by 

(C) 25 

(A) 

16 

a, 

(C) a T c 

(A) 

(C) 

b T d 

[93524 ] 

b+c+ d= 51, c+ d+ a = 57 d + a+ b= 58 , at. a, b, c, d 

(B) 9 

(D) 49 

b, 

b and d 

(B) 9 

a and c 

(D) 49 

G, d yAGH# qurts TEi a + b + c = 53, 

(B) 

Let a, b, c, d be positive integers where a + b + c = 53. 

(D) 

b+ c+ d= 51, c+ dt a= 57 and d + a+ b= 58. Then the greatest 

and the smallest numbers among a, b, c and d are respectively 

b T c 

a eT b 

(B) 

(D) 

A 

b and c 

a and b 

TSTMS/VII/I/702 5/ 16 



A 

7. 

9. 

(A) 

(C) 

digits is 2 is 

(A) 1 

(C) 3 

(A) 

1 

The number of prime numbers less than 100 whose sum of the 

(C) 

3 

(C) 

(A) 

11 

(A) 11 

(C) 

11 (a-1) = 13 ( b- 1), a a + b51 d4 qAT HA I? 

24 

[93524 ] 

(B) 

(D) 

24 

(B) 

160 

(D) 

34 

(B) 

If a and b are positive integers each greater than 1, and if 

(D) 

11 (a-1) = 13 ( b- 1), what is the least possible value of a + b? 

(B) 

2 

(D) 

4 

2 

(B) 

4 

(D) 

afa 18 3t 21 a 16, 10 3t n al 3Ha a at n 1 HGH qGI HYTAT 

13 

26 

13 

26 

8 

24 
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10. 

11. 

If the average of 16, 10 and n lics between 18 and 21, what is the 

greatest possible value of n ? 

(A) 160 

(C) 

(A) 1152 

(C) 

yA n tag� HNHÈ 2304 n JI Y0GYI 

(C) 

(A) 1152 

(A) 

(C) 

34 

(A) 

(C) 

48 

The sum of the first n odd numbers is 2304. Find n. 

(A) 

(C) 

n² is divided by 7 is 

[93524 ] 

48 

2 

4 

2 

(B) 

4 

(D) 

23 

48 

(D) 

(B) 2304 

(B) 

(D) 

(B) 

n is a natural number. The number of possib<e remainders when 

(D) 

8 

(B) 

24 

(D) 

(B) 

(D) 

100 

2304 

100 

3 

5 

3 

5 

32 

A 

12 
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A 

13. 

14. 

The ratio of two numbers is 7:9. If cach number is decreased by 

2, the ratio becomes 3 : 4. The sum of the two numbers is 

(A) 23 

(C) 48 

qt 3 + 33 + 333 + 3333 + 

(A) 

(C) 6465 

6365 

(A) 6365 

(C) 6465 

(A) 

(C) 4 

2 

(C) 

(A) 2 

[93524 ] 

... 

In the sum 3 + 33 + 333 + 3333 + ... where there are 2015 terms, 

(B) 

the number forned by taking the last four digits in order is 

(D) 

4 

(B) 

(D) 

32 

(B) 

12 

(D) 

6255 

6565 

6255 

ABCD is a square with area 64 sq.cm. The square at centre has 

area 16 sq.cm. The remaining are four congruent rectangles. The 
ratio of length/ breadth of the rectangle is 

6565 

(B) 3 

(D) 5 

(B) 3 

(D) 5 
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15. 

16. 

a, b, c aAT d aIAfàcs H à f 1015 s as 2015, 

3015 s bs 4015, 5015 s cs 6015 3Ît 7015 sds 8015. 

C+ d 
a+b 

(A) 

(C) 

(A) 

1403 

(C) 

603 

[93524 ] 

1401 

maximum value of 

(C) 

603 

a, b, C and d are real nunmbers such that 1015 S a S 2015, 

3015 s bs 4015, 5015 s cs 6015 and 7015 S ds 8015. The 

1403 
603 

(A) 90% 

1401 
603 

33! % 

c+d 

(B) 

a+ 
is 

(D) 2015 

1402 
603 

(B) 

(B) 

1402 
603 

(D) 2015 

A 

(D) 30% 
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17. 

18. 

A black and white photograph is 70% black and 30% white. It is 

enlarged three times. The percentage of white in the enlarged 

photograph is 

(A) 90% 

(C) 33% 

(A) 9 

(5+1)(5' +1)(5°+ l ) ... (52015 +1) 1 urse À ^951 i 

(C) 

The unit digit in the product 

(A} 

6 

(C) 6 

(5+1)(52 +1)(5+1)... (52015 + 1) is 

(A) 120° 

(C) 145° 

(B) 66% 

(D) 30% 

(A) 120° 

(C) 

ABCDE # H4YTYAI CDP 3R EDQ HHgr fayaI ZQDPI 414 

[93524 ] 

(B) 

(D) 4 

1450 

(B) 8 

(D) 4 

ABCDE is a regular pentagon. CDP and EDQ are equivalent 
triangles. The measure of ZQDP is 

(B) 

(D) 162° 

1320 

(B) 

(D) 

132° 

162° 
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19. 

20. 

21. 

(A) 

(C) 

(A) 

(C) 

(A) 

C- a 

(C) 

ct a 

The hypotenuse c and one side a of a right angled triangle are 

consecutive integers. The sauare of the third side is 

C- a 

c+ a 

12 

14 

digits is 

(A) 12 

[93524 ] 

(C) 14 

(B) 

a+ b + c I H I? 

(D) 

(A) 12 

(C) 18 

(B) 

(D) 

(B) 

(D) 

Ca 

C 

If the product of the digits of a 4 digit number is 75, the sum of its 

(B) 

(D) 

Ca 

C 

a 

13 

15 

ufa 3a +3 =756, 7" + 2° =375 TT 5° + 3 = 

13 

15 

(B) 14 

(D) 20 

A 
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A 

22. 

23. 

If 3° + 3 -756, 7a +2° =375 and 54 + 3 = 128 then value of 

at b+ c is 

(A) 12 

(C) 

(A) 90 

(C) 250 

18 

for the examination is 

(A) 

(C) 

(A) 

(C) 

[93524 ] 

A student has to score 30% marks to get through examination. If 

90 

h¹ gets 30 marks and fails by 30 marks, the maximum marks set 

250 

(B) 

(D) 

256 

(B) 

22015 

(D) 

14 

(D) 

20 

22015 4 22015 + 22015 +..+22015, fred 2015 % , 22015 

200 

(B) 

125 

(B) 200 

(D) 

125 

273 

2015 
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24. 

25. 

The value of 22015 

(A) 

terms when divided by 22015 will be 

(C) 

(A) 

(C) 

(A) 

256 

(C) 

22015 

(A) 

ABC 3R ADC HHtçSIz a AB = AC = AD, Z BAC = 40°, 
2CAD = 70° I BCD + 2 BDC I HG & 

(C) 

(93524 ] 

145° 

1350 

+ 22015 +22015 

145° 

135° 

(B) 

ab (a + b+2) 
2 

(D) 

ab (a + b-4) 

ABC and ADC are isosceles triangles in which AB = AC = AD, 

2 

2BAC = 40°, ZCAD =70°, The value of BCD +2 BDC is 

(B) 

(D) 

t ... + 22015 

(B) 

273 

(D) 

2015 

(B) 

(D) 

140° 

1420 

140° 

142° 

, consisting of 2015 

ab (a + b-1) 
2 

ab (a + b) 
2 
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A 

There are point 'a' on a line and point b' on a parallel line. The 

number of triangles formed by these ( a + b) points taken as 

vertices is 

(A) 

(C) 

[ 93524 ] 

ab (a + b+2) 
2 

ab (a + b-4) 
2 

(B) 

(D) 

ab (a + b-1) 

ab (a + b) 
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Space for Rough Work 

TSTMS/VII/I/702 

A A 

15 / 16 


